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534 578 = 500 000 + 30 000 + 4 000 + 500 + 70 + 8 

 
What number needs to go in the box in the following statements? 
 
1.  647 892 = 600 000 +  40 000 +                  + 800 + 90 + 2 
 
2.  34 191 = 30 000 + 4000 +                  + 90 + 1 
 
3.  2 498 352 =                + 400 000 + 90 000 + 8 000 + 300 + 50 + 2  
 
4.  53 790  = 50 000 +                  + 700 + 90 
 
5.  399 725 = 300 000 + 90 000 + 9 000  + 700 +                  + 5 
 
 
Write these in numbers: 
 
   6.   Fifty six thousand two hundred and thirty three. 
 
   7. Nine hundred thousand and twelve. 
 
   8.  Forty six thousand three hundred and fifty five. 
 
   9.  Three hundred million. 
 
 10.  Forty four thousand and eighty six. 
 
Write these in words: 
 
   11.  500 000 
 
   12.  360 000 
 
   13.  2 000 789 
 
   14.  2 900 030 
 
   15.  30 022 
 

 

                        
 

I can do 
these 
standing 
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head - 
just! 
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1) 7 000                   2) 100               3) 2 000 000        4) 3 000                        5) 20 
 
6) 56 233                 7) 900 012        8) 46 355             9) 300 000 000           10) 44 086 
 
11) five hundred thousand     
 
12) three hundred and sixty thousand 
 
13) two million, seven hundred and eighty nine 
 
14) two million, nine hundred thousand and thirty 
 
15) thirty thousand and twenty two 
 
 
 
 
 
 
 


